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Coordinate Grid Perimeter: Composite Polygons
Plot, label, and connect the vertices to make a figure. Then tell the figure’s perimeter in units.

A(-10, -2), B(-2, -2), C(-2, -7), D(-5, -7), 
E(-5, -10), F(-10, -10)

perimeter = ______ units

perimeter = ______ units

P(-6, 9), Q(-2, 9), R(-2, -3), S(-10, -3), T(-10, 2), U(-6, 2)

1.

3.

perimeter = ______ units

H(1, 7), I(9, 7), J(9, -8), K(4, -8), L(4, 2), M(1, 2)2.
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perimeter = ______ units

4. L(-3, -3), M(5, -3), N(5, -10), O(2, -10), P(2, -7), Q(-3, -7)

U(-2, 5), V(9, 5), W(9, 1), X(5, 1), Y(5, -6), Z(-2, -6)

E(-2, 6), F(5, 6), G(5, 3), H(2, 3), I(2, -6), 
J( -5, -6), K(-5, -2), L(-2, -2)

5.

perimeter = ______ units

perimeter = ______ units

Coordinate Grid Perimeter: Composite Polygons
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ANSWER KEY
Coordinate Grid Perimeter: Composite Polygons

Super Teacher Worksheets - www.superteacherworksheets.com

Plot, label, and connect the vertices to make a figure. Then tell the figure’s perimeter in units.

A(-10, -2), B(-2, -2), C(-2, -7), D(-5, -7), 
E(-5, -10), F(-10, -10)

perimeter = ______ units

perimeter = ______ units

P(-6, 9), Q(-2, 9), R(-2, -3), S(-10, -3), T(-10, 2), U(-6, 2)

1.

3.

perimeter = ______ units

H(1, 7), I(9, 7), J(9, -8), K(4, -8), L(4, 2), M(1, 2)2.
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perimeter = ______ units

4. L(-3, -3), M(5, -3), N(5, -10), O(2, -10), P(2, -7), Q(-3, -7)

U(-2, 5), V(9, 5), W(9, 1), X(5, 1), Y(5, -6), Z(-2, -6)

E(-2, 6), F(5, 6), G(5, 3), H(2, 3), I(2, -6), 
J( -5, -6), K(-5, -2), L(-2, -2)

5.

perimeter = ______ units

perimeter = ______ units

Coordinate Grid Perimeter: Composite Polygons


